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äHQVND� NRãDUND� Y� 3RPXUMX� MH� GRåLYOMDOD� Y]SRQH� LQ� SDGFH�� 1HNDWHUL� VR� ELOL�
SRYH]DQL�]�RVHEQLPL�LQWHUHVL��GUXJL�VSHW�]�GUXåEHQR�LQ�HNRQRPVNR�VLWXDFLMR�
Y�UHJLML��YHQGDU�SD� MH�]DXSDQMH�Y� ODVWQR�]QDQMH� LQ�VSRVREQRVW�Y�SRYH]DYL�]�
Y]WUDMQRVWMR�LQ�SUHGDQRVWMR��NDU�VR�YHGQR�ELOH�QDãH�YUHGQRWH��SULQHVOR�YHGQR�
]QRYD�QHNDM�SR]LWLYQHJD��WDNR�GD�Y�WHM�YL]LML�WLþL�UD]ORJ��GD�åHQVND�NRãDUND�Y�
3RPXUMX�åLYL� 
 
 
'HNOHWD� WUHQXWQH� VHOHNFLMH� VWDUHMãLK� SLRQLUN� VR� HNLSD�� NL� MR� MH� QD� ]DNOMXþQL�
WXUQLU� SULQHVOR� VLVWHPDWLþQR� GHOR�� ýHSUDY� ãWHYLOþQR� LQ� ]� YLãLQR� SRGKUDQMHQD�
HNLSD��SD�LPDPR�VUHþR��GD�VR�QDãD�GHNOHWD�SRJXPQH�ãSRUWQLFH��WUHQHUML�SD�
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RJURPQR�XU�WUHQLQJRY��YORåHQHJD�WUXGD�WHU�RGLJUDQLK� WHNHP��9þDVLK�MH�ELOR�
SRWUHEQR�VWLVQLWL�]REH��GD�VPR�GRVHJOL�GREUH�UH]XOWDWH��D�YHVHOL�REUD]L�GHNOHW�
SR�YVDNL�]PDJL�VR�SRSODþDOL�YVH�QDSRUH�� 
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RUJDQL]LUDPR� Y� 0XUVNL� 6RERWL�� 2E� WHM� SULORåQRVWL� VH� LVNUHQR� ]DKYDOMXMHP�
YVHP�VSRQ]RUMHP�LQ�GRQDWRUMHP�]D�GHQDUQR� LQ�PDWHULDOQR�SRPRþ�SUL�GHOR�
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OMXELWHOML�ãSRUWD�LQ�ãH�SRVHEHM�NRãDUNH� 
 
3ULMD]QR�SR]GUDYOMHQL�Y�0XUVNL�6RERWL� 
 
3RQRVHQ� VHP�� GD� ]DNOMXþQL� WXUQLU� ãWLULK� QDMEROMãLK� NRãDUNDUVNLK� HNLS� Y�
NDWHJRULML�VWDUHMãLK�SLRQLUN�SRWHND�SUDY�Y�QDãHP�PHVWX� LQ�]DWR� LVNUHQR�
þHVWLWDP� QDãLP� PODGLP� NRãDUNDULFDP� äHQVNHJD� NRãDUNDUVNHJD� NOXED�
3RPXUMD��NL�VR�WR�V�VYRMLPL�RGOLþQLPL�UH]XOWDWL�RPRJRþLOH� 
 
äHQVNL� NRãDUNDUVNL� NOXE� 3RPXUMH�� NL� åH� YHþ� GHVHWOHWLM� GHOXMH� Y� 0XUVNL�
6RERWL� MH� Y� ]DGQMLK� OHWLK� SUHUDVHO� Y� XVSHãQR� NRãDUNDUVNR� HNLSR�� NL� VH�
ODKNR�SRKYDOL�]�OHSLPL�UH]XOWDWL�WDNR�QD�VORYHQVNL�NRW�WXGL�QD�PHGQDUR�
GQL�UDYQL�� 
 
9� 0HVWQL� REþLQL� 0XUVND� 6RERWD� YHOMD� ]D� HQHJD� QDMEROMãLK� Y� åHQVNLK�
ãSRUWQLK�NROHNWLYLK��]DWR�]�YHVHOMHP�SRGSLUDP�QMLKRYR�SUL]DGHYDQMH�LQ�VH�
LVNUHQR�]DKYDOMXMHP�]D�YORåHQL�WUXG�YVHP�]DVOXåQLP�]D�ãSRUWQH�XVSHKH��
ãH�SRVHEHM�SD� WXGL� ]D� Y]JRMR�PODGLK�ãSRUWQLF��=DYHGDP�VH�QDPUHþ� L]�
MHPQR�SR]LWLYQHJD�YSOLYD�ãSRUWD�QD�QDãH�PODGH�REþDQNH�LQ�REþDQH�� 
 
9VHP�NRãDUNDUVNLP�HNLSDP��NL�VH�ERGR�WD�NRQHF�WHGQD�SRPHULOH�Y�0XU�
VNL�6RERWL�åHOLP�YHOLNR�ãSRUWQLK�XVSHKRY�LQ�SR]LWLYQH�HQHUJLMH�–�VHYHGD��
SD�SHVWL�QHNROLNR�EROM�WUGQR�VWLVNDP�]D�QDãH�GRPDþH�NRãDUNDULFH� 
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